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PHYSICS

BOOKS - MARVEL PHYSICS (HINGLISH)

COMMUNICATION SYSTEMS

1. An electron oscillating with a frequency of

3 x 10° Hz, would generate -


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YnTUUcZJM4N0

A. 1. X rays

B. 2. Ultraviolet rays

C. 3. Radio waves

D. 4. Microwaves

Answer: C

o Watch Video Solution

2. If sound waves of frequency 20 KHz are to
be transmitted directly, then the length of the

dipole antenna required is


https://dl.doubtnut.com/l/_YnTUUcZJM4N0
https://dl.doubtnut.com/l/_9eq7w22ZYBv1

A. A.3.75 km

B.B. 15 km

C.C.7.5km

D. D. 20 km

Answer: C

o Watch Video Solution

3. Audio signal cannot be transmitted because

A. the signal has more noise


https://dl.doubtnut.com/l/_9eq7w22ZYBv1
https://dl.doubtnut.com/l/_TOSTw02y4t3H

B.the signal cannot be amplified for

distance communication

C.the transmitting antenna length is very

small to design

D. the required length of the transmitting

antenna is very large and impracticable

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TOSTw02y4t3H

4. Antennas are made from

A. 1. insulators

B. 2. metallicconductors

C. 3. semiconductors

D. 4. super conductors

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VviU97NTBfdu

5. Which of the following systems are digital ?

A. 1. clinical thermometer

B. 2. electronic counter used to count the

persons visiting an exhibition

C. 3. electronic calculator

D.4.both b and c

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Ddycnnm56K00
https://dl.doubtnut.com/l/_Q1MI3sYKh9we

6. Which of the following is not transducer?

A. Loudspeaker

B. Amplifier

C. Microphone

D. Photocell

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q1MI3sYKh9we

7. The ratio waves of frequency 300M Hz to

3000M H z belong to

A. Super high frequency band

B. Ultra high frequency band

C. Very high frequency band

D. High frequency band

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_I6KeVHsYxvNi
https://dl.doubtnut.com/l/_rIkxE7CTRagh

8. What is the frequency of a 20 m radiowave?

A. a15MHz

B. b.12MHz

C. c1200 KHz

D.d.25 MHz

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rIkxE7CTRagh

9. A basic communication system consists of
(A) transmitter (B) information source (C ) user
of information (D)channel (E) receiver’

Choose the correct sequence in which these
are arranged in a basic communicarion

system.

A. ABCDE

B. BADEC

C. BDACE

D. BEADC


https://dl.doubtnut.com/l/_4FPeXd3RNKjN

Answer: B

o Watch Video Solution

10. What should be the length of a half wave

dipole antenna required to transmit audio

frequency signals?

A. a.5 km

B. b.10 km

C.cl5m

D. d.7.5 km


https://dl.doubtnut.com/l/_4FPeXd3RNKjN
https://dl.doubtnut.com/l/_HTVMUrWutxbD

Answer: D

o Watch Video Solution

1. If the frequency of the carrier wave is
increased from 10 MHz to 100 MHz, the length
of the half wave dipole antenna required for

transmission

A. a.increases

B. b.decreases

C. cremains constant


https://dl.doubtnut.com/l/_HTVMUrWutxbD
https://dl.doubtnut.com/l/_0Gteif0EaRUH

D. d.will be doubled

Answer: B

o Watch Video Solution

12. One requires 11eV of energy to dissociate
a carbon monoxide molecule into carbon and
oxygen atoms. The minimum frequency of the
appropriate electromagnetic radiation to

achieve the dissociation lies in.

A. visible region


https://dl.doubtnut.com/l/_0Gteif0EaRUH
https://dl.doubtnut.com/l/_ZazC4VA0yr5a

B. infrared region

C. ultraviolet region

D. microwave region

Answer: C

o Watch Video Solution

13. The intensity of a light pulse travelling
along a communication channel decreases

exponentially with distance x according to the

(0}

relation I = Iye ™ **, where I is the intensity


https://dl.doubtnut.com/l/_ZazC4VA0yr5a
https://dl.doubtnut.com/l/_7CfoRistcdYt

at x = 0 and « is the attenuation constant.
What is the distance travelled by the wave,
when the intensity reduces by 75% of its initial

intensity?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7CfoRistcdYt

14. A bandwidth of 6MHz is available for A.M.
transmission . The maximum frequency of the
audio signals used for modulating the carrier
wave is 5 KHz. How many stations can be
broadcasted simultaneously within this band

without interferring with each other ?

A. 400

B. 500

C. 600

D. 700


https://dl.doubtnut.com/l/_7CfoRistcdYt
https://dl.doubtnut.com/l/_OFjix2EIPJ4r

Answer: C

° Watch Video Solution

15. The central operating frequency of a
microwave telephone link is 8 GHz. 5% of this
frequency is available for microwave
communication . How many telephone
channels can be operated simultaneously if
the bandwidth of each telephone channel is 5

KHz ?


https://dl.doubtnut.com/l/_OFjix2EIPJ4r
https://dl.doubtnut.com/l/_UzL8x2PZxWDi

A A 8 x 10°

B.B.8 x 10*

C.C.4 x 106

D.D.6 x 10°

Answer: B

o Watch Video Solution

16. The T.V. signals have a bandwidth of 4.5
MHz. How many channels can be

accommodated in a bandwidth of 27 GHz ?


https://dl.doubtnut.com/l/_UzL8x2PZxWDi
https://dl.doubtnut.com/l/_lj9MbVp6x6xS

A. 4000

B. 5000

C. 6000

D. 7000

Answer: C

o Watch Video Solution

17. In a communication system, operating at
1200 mm, only 2% of the source frequency is

available for TV. transmission , having a


https://dl.doubtnut.com/l/_lj9MbVp6x6xS
https://dl.doubtnut.com/l/_tiZRJ7Wl35z3

bandwidth of 5 MHz. The number of T.V.

channels that can be transmitted is

A. a. 1 million

B. b. 2 million

C. c. 0.5 million

D. d. 0.1 million

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_tiZRJ7Wl35z3

18. A communication channel having an
operating wavelength of A metre can use only
x% of its source frequency as its channel
bandwidth . If the system is to be used for
transmitting T.V. signals requiring a bandwidth
of F Hertz . How many channels can this

system transmit simultaneously ?

xc
A.
100\ F

100\ F
xc

¢ [2e
V AF


https://dl.doubtnut.com/l/_8i5FJl4M1G6P

100\ F
xc

Answer: A

o Watch Video Solution

19. A transmitting station transmits radiowave
of wavelength 360 m. What is the inductance
of a coil required with a condenser of capacity
1.20 uF in the resonant circuit to receive the

radiowaves ? ( Use 7°=10)

A.6 x 10" %H


https://dl.doubtnut.com/l/_8i5FJl4M1G6P
https://dl.doubtnut.com/l/_bGjhZRJykSl3

B.4 x 10" 8H

C.3x 10" %H

D.2 x 108 H

Answer: C

o Watch Video Solution

20. 1% of 102 Hz of a satellite link was used
for telephony . What is the number of
channels (or subscribers ) , if the bandwidth of

each channel is 8 KHz ?


https://dl.doubtnut.com/l/_bGjhZRJykSl3
https://dl.doubtnut.com/l/_AirQMWYhp5BI

A A 2.5 x 10°

B. B.1.25 x 10°

C.C.2.5 x 107

D.D.1.25 x 10°

Answer: B

o Watch Video Solution

21. A male voice after modulation-transmission
sounds like that of a female to the receiver.

The problem is due to


https://dl.doubtnut.com/l/_AirQMWYhp5BI
https://dl.doubtnut.com/l/_YoaaxPz476bH

A.poor selection of modulation index

(selected O It m It 1)

B. poor bandwidth selection of amplifiers

C. poor selection of carrier frequency

D. loss of energy in transmission

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YoaaxPz476bH

22. Indicate the 'wrong' statement from the

following :

Modulation is used to

A. 1. allow the use of practicable antenna

B.2. ensure that the information is

transmitted over long distances

C. 3. increase the band width

D. 4. decrease the band width

Answer: D

Y. |


https://dl.doubtnut.com/l/_s9F3bYducQjy

[ @ VWatch vVideo Solution ]

23. A signal wave of frequency 12 kHz is
modulated with a carrier wave of frequency 2-
51 MHz. The upper and lower side band
frequencies are respectively.

A. 2512 KHz and 2508 KHz

B. 2522 KHz and 2488 KHz

C. 2502 KHz and 2498 KHz

D. 2522 KHz and 2498 KHz


https://dl.doubtnut.com/l/_s9F3bYducQjy
https://dl.doubtnut.com/l/_D4iR7Xj6wxTa

Answer: D

o Watch Video Solution

24. A modulated carrier wave has minimum
and minimum amplitudes of 900 m V and 300
mV respectively. What is the percentage
modulation index ?

A.04

B.0.45

C.05


https://dl.doubtnut.com/l/_D4iR7Xj6wxTa
https://dl.doubtnut.com/l/_fUPf8KruC2bK

D. 0.6

Answer: C

° Watch Video Solution

25. A message signal of 1 KHz and peak voltage
50 v is used to modulate a carrier wave of
frequency 1200 KHz and peak voltage 80 V.

What is the modulation index ?

A.a. 0.5


https://dl.doubtnut.com/l/_fUPf8KruC2bK
https://dl.doubtnut.com/l/_XqQcmFgOm2H6

B.b.0.55

C.c.0.6

D.d.0.625

Answer: D

o Watch Video Solution

26. The maximum peak-to-peak voltage of an
AM wave is 16mV and the minimum peak-to-
peak voltage is 4mV. The modulation factor is

equal to


https://dl.doubtnut.com/l/_XqQcmFgOm2H6
https://dl.doubtnut.com/l/_2kEPVxuXRnl3

| w Wl o w

Answer: D

o Watch Video Solution

27. A sinusoidal carrier voltage of 120 V is
amplitude modulated by a sinusoidal voltage

of frequency 10KHz. What is the modulation


https://dl.doubtnut.com/l/_2kEPVxuXRnl3
https://dl.doubtnut.com/l/_wdG2GFTIwI1j

index if the maximum modulated carrier

amplitude is 150 V ?

A. A 0.2

B.B.0.25

C.C.03

D.D. 0.45

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wdG2GFTIwI1j

28. A sinusoidal carrier wave of amplitude 40 V
is amplitude modulated by a sinusoidal signal
voltage. What is the amplitude of each side
band if the modulation index is 25%.

A A5V

B.B.4V

C.C.eV

D.D.8V

Answer: A

‘ ° Wiadk hh \iAAaA CAaliikianm



https://dl.doubtnut.com/l/_SqUKidGJm8lt
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29. When a sinusoidal carrier wave of voltage
amplitude 3 kV is amplitude modulated by a
sinusoidal signal voltage, two side bands each
of amplitude 600 V are produced. What is the
modulation index ?

A.a.0.25

B.b.03

C.c.035

D.d.04


https://dl.doubtnut.com/l/_SqUKidGJm8lt
https://dl.doubtnut.com/l/_vIcdhZ0TM3Dc

Answer: D

o Watch Video Solution

30. A 500 KHz carrier wave is amplitude
modulated by an audio signal of frequency
span of 200 Hz to 4000 Hz. What is the
bandwidth of the channel?

A. a.4 KHz

B.b. 6 KHz

C.c.8 KHz


https://dl.doubtnut.com/l/_vIcdhZ0TM3Dc
https://dl.doubtnut.com/l/_euFV6Qg7GFOr

D. d.10 KHz

Answer: C

° Watch Video Solution

31. A sinusoidal carrier wave of amplitude 80 V
and frequency 600 KHz is amplitude
modulated by a sinusoid voltage of frequency
30 KHz. What is the ratio of upper and lower

side band frequencies ?

A 20
19


https://dl.doubtnut.com/l/_euFV6Qg7GFOr
https://dl.doubtnut.com/l/_uIUXHT3KZRfJ

Answer: B

o Watch Video Solution

32. Fig. 10 (CF).1 is the circuit diagram of an AM
demodulator. For good demodulation of AM

signal of carrier frequency f, the value of RC


https://dl.doubtnut.com/l/_uIUXHT3KZRfJ
https://dl.doubtnut.com/l/_rN9VKBwjQPzN

should be

A.M. Signal

|

A.RC =

B. RC <

N I N

C.RC > —

D.RC < < —

Answer: C



https://dl.doubtnut.com/l/_rN9VKBwjQPzN

| ¥ Watch Video Solution |

33. If the highest modulating frequency of the
wave is 5 kHz, the number of stations that can
be accomodated in a 150 kHz bandwidth ?

A. 20

B.15

C.10

D.5

Answer: B

' 1


https://dl.doubtnut.com/l/_rN9VKBwjQPzN
https://dl.doubtnut.com/l/_TPBytS79LBbe

Watch Video Solution

34.In an amplitude modulated wave for audio
frequency of 500cycle / sec ond,the
appropriate carrier frequency will be

A. 50 Hz

B. 100 Hz

C.500 Hz

D. 50,000 Hz

Answer: D


https://dl.doubtnut.com/l/_TPBytS79LBbe
https://dl.doubtnut.com/l/_f0OHeLn6422L

° Watch Video Solution

35. The maximum peak ro peak voltage of an

AM wire is 24mV and the minimum peak to

peak voltage is 8m V. The modulation factor is

A. 01

B.0.2

C.0.25

D.0.5

Answer: D


https://dl.doubtnut.com/l/_f0OHeLn6422L
https://dl.doubtnut.com/l/_VNLS3hAf0ZFv

° Watch Video Solution

36. A 1000 kHz carrier wave is modulated by an

audio signal of frequency range 100-5000 Hz.

Then, the width of channel (in kHz) is

A. 10 KHz
B. 20 KHz
C.30 KHz

D. 40 KHz

Answer: A


https://dl.doubtnut.com/l/_VNLS3hAf0ZFv
https://dl.doubtnut.com/l/_UGIaxMMKke0u

° Watch Video Solution

37. A carrier frequency of 1 MHz and peak value
of 10 V is amplitude modulated with a signal
frequency of 10 KHz with peak value of 0.5 V.
What are the values of the modulation index

and the side band frequencies ?

A.0.05and 1 £+ 0.010 MHz
B.0.5and 1 &+ 0.010 MHz

C.0.05and 1 + 0.005 MHz


https://dl.doubtnut.com/l/_UGIaxMMKke0u
https://dl.doubtnut.com/l/_A1TIx2tM83gI

D.0.5and 1 = 0.005 MHz

Answer: A

° Watch Video Solution

38. In the process of modulation, the radio

frequency wave is known as

A. 1. a modulating wave

B. 2. a modulated wave

C. 3. a carrier wave


https://dl.doubtnut.com/l/_A1TIx2tM83gI
https://dl.doubtnut.com/l/_gRO0qGwk24pa

D. 4. a demodulated wave

Answer: C

o Watch Video Solution

39. A sinusoidal voltage is used to amplitude
modulate a sinusoidal voltage of amplitude 1
KV. This results in the production of two side
bands, each of amplitude 200 V. What is the

modulation index ?

A. 0.1


https://dl.doubtnut.com/l/_gRO0qGwk24pa
https://dl.doubtnut.com/l/_Z0hOkIQ1SRqN

B.0.2

C.0.3

D.04

Answer: D

o Watch Video Solution

40. Audio sine waves of 3 kHz frequency are
used to amplitude modulate a carrier signal of
1.5 MHz. Which of the following statements are

true?


https://dl.doubtnut.com/l/_Z0hOkIQ1SRqN
https://dl.doubtnut.com/l/_6Ec1vkvjsNVX

A. The side band frequencies are 1506 KHz

and 1494 KHz

B. The bandwidth required for amplitude

modulation is 6 MHz

C.The bandwidth required for amplitude

modulation is 3 MHz

D. The side band frequencies are 1503 KHz

and 1497 KHz

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6Ec1vkvjsNVX

41. In a diode AM- detector, the output circuit

consist of R = 1kQ2 and C' = 10pF'. A carrier

signal of 100kH z is to be detected. Is it good?

A. Yes

B. No

C. Information is not sufficient

D. May or may not detect

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_6Ec1vkvjsNVX
https://dl.doubtnut.com/l/_8fEcPgmPXkMJ

42. A modulating signal is a square wave as

shown in the following figure.

Amplitude
A

Y |
1 2

tins

While the carrier wave is given by, e = 4 sin (87

7rt) volt. What is the modulation index ?

A.0.15

B.0.25


https://dl.doubtnut.com/l/_8fEcPgmPXkMJ
https://dl.doubtnut.com/l/_nDpKokWjQ79F

C.0.35

D.0.5

Answer: B

o Watch Video Solution

43. An audio signal given by e; = 12sin27
(2000 t) amplitude modulates a sinusoidal
carrier wave e?> = 50sin 27 ( 100, 100t). What

is the upper side band frequency?


https://dl.doubtnut.com/l/_nDpKokWjQ79F
https://dl.doubtnut.com/l/_AhGoWJ3xjUsx

A. a. 101 KHz

B. b. 99 KHz

C. c. 100 KHz

D. d. 102 KHz

Answer: D

o Watch Video Solution

44.In a diode detector , output circuit consists
of R =1Mw and C = 1pF. Calculate the

carrier frequency it can detect.


https://dl.doubtnut.com/l/_AhGoWJ3xjUsx
https://dl.doubtnut.com/l/_iQgg6cojVDZK

A. 10 KHz

B. 50 KHz

C. 70 KHz

D. 2 MHz

Answer: D

° Watch Video Solution

45. A diode AM detector with the output

circuit consisting of R = 1kQ2 and C = 1uf


https://dl.doubtnut.com/l/_iQgg6cojVDZK
https://dl.doubtnut.com/l/_T34vi5uT2E7Z

would be more suitable for detecting a carrier

signal of:

A. 10 KHz

B. 0.5 KHz

C.1KHz

D. 0.75 KHz

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_T34vi5uT2E7Z

46. An amplitude modulated wave is as shown
in the figure. What is the percentage of

modulation ?

“pAAA L
VAVERRY

[=]

J
<]
Sl
]

A.0.5

B. 0.6667

C.045

D. 0.556


https://dl.doubtnut.com/l/_LaWDzLRv7oN2

Answer: B

o Watch Video Solution

47. Compute LC product of a tuned amplifer

circuit required to generate a carrier wave of

1M H z for amplitude modulation

A. 2.5 x 10 145

B.3 x 10 45

C.1.5 x 10 145

D.2 x 10 s


https://dl.doubtnut.com/l/_LaWDzLRv7oN2
https://dl.doubtnut.com/l/_P0Uh2BuvtKU5

Answer: A

o Watch Video Solution

48. An oscillator is producing FM waves of

requency 2kHz with a variation of 10kHz.

What is modulating index?

A.0.20

B.5.0

C.0.67

D.15


https://dl.doubtnut.com/l/_P0Uh2BuvtKU5
https://dl.doubtnut.com/l/_iYTVdFKcXFnw

Answer: B

o Watch Video Solution

49. The frequency of a FM transmitter without

signal input is called

A. Lower side band frequency

B. Upper side band frequency

C. Resting frequency

D. Critical frequency


https://dl.doubtnut.com/l/_iYTVdFKcXFnw
https://dl.doubtnut.com/l/_OF9tQbxnmLMb

Answer: C

o Watch Video Solution

50. In an FM system a T7kHz signal
modulates 108M H z carrier so that frequency
deviation is 50kH z. The frequency modulation
index is

A.7.143

B.8

C.0.71


https://dl.doubtnut.com/l/_OF9tQbxnmLMb
https://dl.doubtnut.com/l/_YpXOT1oNEbyr

D. 350

Answer: A

° Watch Video Solution

51. A radiostation has two channels. One is AM

at 1020 kHz and the other FM at 89.5MHz. For

good results you will use

A. Longer antenna for the AM channel and

shorter for the FM channel


https://dl.doubtnut.com/l/_YpXOT1oNEbyr
https://dl.doubtnut.com/l/_7x55IjNxPRre

B. Shorter antenna for the AM channel and
longer antenna for the FM channel

C. Same length antenna will work for both

D. Information given is not enough to say

which one to use for which

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7x55IjNxPRre

52. The modulation index of an FM signal is 1.5.

The modulating frequency is 5 KHz. What is

the maximum frequency deviation ?

A A.5KHz

B.B. 6 KHz

C.C. 7.5 KHz

D.D. 9 KHz

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5hqlUyV6i7BM

53. In frequency modulation, the frequency of

the modulated wave varies as

A. frequency of the modulating wave

B. amplitude of the modulating wave

C. frequency of the carrier wave

D. intensity of the modulating wave

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eI8RdeqcJ4Yz
https://dl.doubtnut.com/l/_8AhNqqw4sb1f

54. Ozone layer blocks the radiaitons of wave
length

A. 4500 A

B. more than 6000 A

C. less than 3000 A

D. only between 10 A to 100 A

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8AhNqqw4sb1f

55. The ionosphere consists of the following

layer D, E, F; and F5 . Which of these layers are

present in the night time ?

A. 1D, F}

B.2.E and F5

C.3.D and F2

D.4.D,Fy, F,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_S9CMRwRPBClL

56. At daytime, the ionosphere oonsists of the
following layers

A.1.DE and F}

B. 2. D, Fl and F2

C. 3. D,E,F1 and F2

D. 4. E,Fl and F2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3qntrz6v9WxU
https://dl.doubtnut.com/l/_tmFyZfVAlABN

57. What should be the minimum electron
density in the ionosphere, for the sky wave
propagation of a 9 MHz signal?

A. 1.5 x 10'? /m?®

B.10"* /m?

C.0.5 x 10"* /m?

D.0.8 x 10" /m3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tmFyZfVAlABN
https://dl.doubtnut.com/l/_tCPnRV1beYX3

58. What fraction of the surface area of earth

can be covered to establish communication by

one geostationary satellite ?

Al

B.0.5

C.0.33

D. 0.2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tCPnRV1beYX3

59. At night time. the following ionospheric

layers do not exist.

A.D and F,

B.E and F}

C.Dand F;

D.Dand E

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2Nely8rOMhZF
https://dl.doubtnut.com/l/_0eSwFGMk9JNw

60. In the night, ionosphere consists of

A.E, F; and Fj layers

B. D,E,F; and F5 layers

C. E and Fj layers

D. DE and Fj layers

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0eSwFGMk9JNw

61. In short wave communication, waves of
which of the following frequencies will be

reflected back by the ionoshperic layer having

electron density 10'* per m?

A. 2 MHz
B. 10 MHz
C. 12MHz

D. 18 MHz

Answer: A

I ° Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_YwXgvPkCb5YR
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62. For sky wave propagation of a 10MHz
signal, what should be the minimum electron
density in ionosphere?

A ~ 1.2 x 10" /m?

B. ~ 10° /m?

C. ~ 10" /m?

D. ~ 10** /m?

Answer: A

| s |


https://dl.doubtnut.com/l/_YwXgvPkCb5YR
https://dl.doubtnut.com/l/_CEv1iy0as8KC

| @ Watch Video Solution ]

63. In communication with help of antenna if
height is doubled then the range covered

which gas initially r would become

A. \/ﬁr

B. 3r
C.4r

D. 5r

Answer: A

r


https://dl.doubtnut.com/l/_CEv1iy0as8KC
https://dl.doubtnut.com/l/_aMUJoA5lj62l

\ o Watch Video Solution

64. The height of a T.V. tower is 300 m. What is

the maximum distance upto which T. V. signals

can be received ? ( R = 6400 km)

A. 50 km

B. 55 km

C.62 km

D. 75 km

Answer: C


https://dl.doubtnut.com/l/_aMUJoA5lj62l
https://dl.doubtnut.com/l/_7MmUVVHe3XnU

° Watch Video Solution

65. Electromagnetic waves of frequencies
higher than 94/2 MHz are found to be not
reflected by the ionosphere on a particular day
at a place. The maximum electron density in

the ionosphere is :
A /2 x 10" /m?

B. /5 x 10" /m?

C.2 x 10" /m?


https://dl.doubtnut.com/l/_7MmUVVHe3XnU
https://dl.doubtnut.com/l/_Q40LQLSGuXHF

D.3 x 10"* /m?

Answer: C

° Watch Video Solution

66. When microwave signals follow the

curvature of earth, this is known as:

A. ionosphere reflection

B. ducting

C. critical velocity


https://dl.doubtnut.com/l/_Q40LQLSGuXHF
https://dl.doubtnut.com/l/_uAkVOkcL3U9o

D. modulation

Answer: B

° Watch Video Solution

67. Which one of the following statement is
wrong ?

A.Radio horizon of the transmitting

antenna for space wave is dr = v/2Rh ,

where R is the radius of the earth and h


https://dl.doubtnut.com/l/_uAkVOkcL3U9o
https://dl.doubtnut.com/l/_gIuU4aTlSjX3

is the height of the transmitting

antenna.

B. Within the skip distance neither the

ground waves nor the sky waves are

received

C. Radiowaves in the frequency range 30

MHz to 60 MHz are called sky waves

D. For the propagation of ground waves

horizontal aerials are used

Answer: C


https://dl.doubtnut.com/l/_gIuU4aTlSjX3

o Watch Video Solution

68. A tansmitting antenna at the top of a
tower has a height 32 m and that of the
receiving antenna is 50 m. What is the
maximum distance between them for
satisfactory communication in line of sight

mode ? Given radius of earth is 6.4 x 10%m.

A. 45.5 km

B.40.5 km

C.35km


https://dl.doubtnut.com/l/_gIuU4aTlSjX3
https://dl.doubtnut.com/l/_ftpIuaObjczL

D. 32 km

Answer: A

° Watch Video Solution

69. A transmitting antenna at the top of a
tower has a height of 50 m and the height of
the receiving antenna is 32 m. What is the
maximum  distance between them for
satisfactory communication in line of sight

mode ?


https://dl.doubtnut.com/l/_ftpIuaObjczL
https://dl.doubtnut.com/l/_bYjGkDUKVQlY

(Radius of the earth (R ) =6.4 x 10° m) (/10
=3.16)

A.75.5 km

B. 65 .5 km

C.55.5 km

D.45 .5 km

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bYjGkDUKVQlY

70. The ionosphere is wused for the

propagation of

A. sky waves

B. space waves

C. ground waves

D. sound waves

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fopikcg4qeDE
https://dl.doubtnut.com/l/_ir5qQC1d6sut

71.In which layer of the atmosphere, the water

vapour is present ?

A. Troposphere

B. lonosphere

C. Stratosphere

D. Mesosphere

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ir5qQC1d6sut

72. What should be the height of transmitting
antenna if the TV. telecast is to cover of a

radius of 128km?

Radius of earth = 6.4 x 10%m.
A. 256 m
B.640 m
C.2500 m

D.1280 m

Answer: D

‘ o Wiak~hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_xU6jsIBkW7Q6

VVCILLIL VI IGAGINIE N

73. The ionosphere is wused for

propagation of

A. 1. sky waves

B. 2. space waves

C. 3. ground waves

D. 4. sound waves

Answer: A

the

o Watch Video Solution



https://dl.doubtnut.com/l/_xU6jsIBkW7Q6
https://dl.doubtnut.com/l/_U5DWxNsfbSMa

74. Which of the following is absorbed by the

ozone layer ?

A. Only radiowaves

B. Only visible rays

C. Ultraviolet radiations

D. «y rays

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_U5DWxNsfbSMa
https://dl.doubtnut.com/l/_Q0Fs4StkDJKg

75.In which layer of the atmosphere, the water

vapour is present ?

A. Troposphere

B. lonosphere

C. Stratosphere

D. Mesosphere

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_y2YtoE58KJaR
https://dl.doubtnut.com/l/_oT8WlkjEkv3Z

76. In electromagnetic spectrum , the

frequencies of a - rays , X - rays and ultraviolet

rays are denoted by nq, ny, and ng respectively

then

A ng > ng > ng

B.ny < ng < ng

C.ny > nyg < ng

D.ny < ng > ng

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oT8WlkjEkv3Z

77. What should be the ratio of the critical
frequencies for reflection or radiowaves from E
and F7 layers of the ionosphere. If their
electrons densities are 2 x 10! /m® and

3 x 10" /m? respectively ?

N W
| oo w| o

O
ot Do


https://dl.doubtnut.com/l/_oT8WlkjEkv3Z
https://dl.doubtnut.com/l/_Xpl4b7pVhb9j

Answer: B

o Watch Video Solution

78. On a particular day, the maximum
frequency reflected from the ionosphere is
10MHz. After 10 days, it increaesed to 11 MHz.
What is the ratio of the maximum electron

density of the ionosphere on these two days ?


https://dl.doubtnut.com/l/_Xpl4b7pVhb9j
https://dl.doubtnut.com/l/_57tEgyhnuGG8

Answer: C

o Watch Video Solution

79. Three waves AB and C of frequencies 1600
kHz, 5 MHz and 60 MHz, respectively are to be
transmitted from one place to another.Which
of the following is the appropriate mode of

communication?


https://dl.doubtnut.com/l/_57tEgyhnuGG8
https://dl.doubtnut.com/l/_JpJkU7gLJhOk

A. A is transmitted via space wave while B

and C are transmitted via sky space

B. A is transmitted via ground wave, B via

sky wave and C via space wave

C.B and C are transmitted via ground wave

while A is transmitted via sky wave

D. B is transmitted via ground wave while A

and C are transmitted vai space wave

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JpJkU7gLJhOk

80. Four waves A, B, C, D of frequencies 6 MHz.
8 MHz, 10 MHz and 4 MHz respectively are
beamed in the same direction, 10
communicate via sky waves. Which one of
these is likely 10 travel the longest distance in
the ionosphere before suffering total internal

reflection ?

A A

B.B

C.C


https://dl.doubtnut.com/l/_JpJkU7gLJhOk
https://dl.doubtnut.com/l/_i7E7rySJRHW5

D.D

Answer: C

° Watch Video Solution

81. A device that converts one from of energy

into another form is termed as

A. a transducer

B. a transmitter

C. an amplifier


https://dl.doubtnut.com/l/_i7E7rySJRHW5
https://dl.doubtnut.com/l/_xHfKbLjJZExq

D. a receiver

Answer: A

° Watch Video Solution

82. The outermost layer of the Earth's

atmosphere is

A. the stratosphere

B. the mesosphere

C. the troposphere


https://dl.doubtnut.com/l/_xHfKbLjJZExq
https://dl.doubtnut.com/l/_XAacDzXwQMaS

D. the ionosphere

Answer: D

° Watch Video Solution

83. The process of regaining of information

from carrier wave at the receiver is termed as

A. Modulation

B. Transmission

C. Propagation


https://dl.doubtnut.com/l/_XAacDzXwQMaS
https://dl.doubtnut.com/l/_qgad3DG5Agzs

D. Demodulation

Answer: D

° Watch Video Solution

84. Line of slight propagation is also called

propagation

A. sky waves

B. Ground wave

C. Sound wave


https://dl.doubtnut.com/l/_qgad3DG5Agzs
https://dl.doubtnut.com/l/_UDu1Asvj6AWC

D. Space wave

Answer: D

° Watch Video Solution

85. The power radiated by linear antenna of

length 'I' is proportional to (A=wavelength)

A

(3)

C.

A
"

[
A


https://dl.doubtnut.com/l/_UDu1Asvj6AWC
https://dl.doubtnut.com/l/_AhLxrDjjCrUZ

Answer: D

° Watch Video Solution

86. In communication system, the process of
superimposing a low frequency signal on a

high frequency wave is known as

A. Detection

B. Mixing


https://dl.doubtnut.com/l/_AhLxrDjjCrUZ
https://dl.doubtnut.com/l/_ii3ahZ2QRU5p

C. Modulation

D. Attenuation

Answer: C

o Watch Video Solution

87. The maximum frequency of transmitted
radio waves above which the radio waves are
no longer reflected back by ionosphere is (N =
maximum electron density of ionosphere, g =

acceleration due to gravity)


https://dl.doubtnut.com/l/_ii3ahZ2QRU5p
https://dl.doubtnut.com/l/_LPfrKmaIBJ6F

Answer: C

o Watch Video Solution

88. In communication system, the process of
superimposing a low frequency signal on a

high frequency wave is known as


https://dl.doubtnut.com/l/_LPfrKmaIBJ6F
https://dl.doubtnut.com/l/_ys3NYVZn8Zcw

A. Repeater

B. Attenuation

C. Modulation

D. Demodulation

Answer: C

° Watch Video Solution

Test Your Grasp 20


https://dl.doubtnut.com/l/_ys3NYVZn8Zcw

1. Calculate the length of half wave dipole

antenna at 30 MHz

A.10m

B.5m

C.25m

D.20 m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_P03efj83pPRZ
https://dl.doubtnut.com/l/_8alTCpsyeGND

2. If both the length of an antenna and the

wavelength of the signal to be transmitted are

doubled, the power radiated by the antenna

A.is doubled

B. is halved

C.remains the same

D. is quadrupled

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8alTCpsyeGND
https://dl.doubtnut.com/l/_W6QjTYuafwE1

3. An 'antenna' is:

A. inductive

B. capacitive

C.resistive above its resonant frequency

D. resistive at resonant frequency

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_W6QjTYuafwE1

4. If the highest modulating frequency of the

wave is 5 kHz, the number of stations that can

be accomodated in a 150 kHz bandwidth ?

A.15

B.10

C.5

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XvG0xw5AYxMZ

5. Modulation is the process of superposing

A.high frequency audio signal on low

freq uency Ca rrier waves

B.low frequency radio signals on low

frequency audiowaves

C.high frequency radio signals on low

frequency audiosignal

D.low frequency audio signals on high

freq uency Ca rrier waves


https://dl.doubtnut.com/l/_oaX3LY47ucmx

Answer: D

o Watch Video Solution

6. A carrier wave of peak voltage 15V, is used

to transmit a message signal. What should be

the peak voltage of the modulating signal in

order to have a modulation index of 40% ?
A5V

B.6V

C.8V


https://dl.doubtnut.com/l/_oaX3LY47ucmx
https://dl.doubtnut.com/l/_7VJgtlsHV854

D.10V

Answer: B

° Watch Video Solution

7. Which one of the following frequencies will
be reflated back by the ionospheric layer
having an electron density of 10** per m?® ?

A. 10MHz

B. 8MHz


https://dl.doubtnut.com/l/_7VJgtlsHV854
https://dl.doubtnut.com/l/_rLsiKveGmq0A

C. 6MHz

D. 9MHz

Answer: D

° Watch Video Solution

8. Troposphere is used in the propagation of

A. Ground waves

B. Sky waves

C. Space waves


https://dl.doubtnut.com/l/_rLsiKveGmq0A
https://dl.doubtnut.com/l/_pYwCg2fWugxf

D. Sound waves

Answer: A

o Watch Video Solution

9. A ratio has a power of 1kW and is operating
at a frequency of 10GHz it is located on a
mountain top of beigh 500m The maximum
distance upto which it can detect object
located on the surface of the earth (Radius of

earth = 6.4 x 10°m) is


https://dl.doubtnut.com/l/_pYwCg2fWugxf
https://dl.doubtnut.com/l/_U6vwOFlqjmz7

A. 80 km

B. 16 km

C.40 km

D. 64 km

Answer: A

o Watch Video Solution

10. The height of a T. V. tower is 75 m. If we
want to double its coverage range, then the

height of the T. V. tower should be


https://dl.doubtnut.com/l/_U6vwOFlqjmz7
https://dl.doubtnut.com/l/_r5lXnuBGO13f

A. 150 m

B.300 m

C.200 m

D.500 m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_r5lXnuBGO13f

